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Question Nos. 1 to 70 have four options, out of which only one is correct. ' bu
have to mark your selected option, on the OMR Sheet with blue/black

ballpoint pen only. Answer any 40 questions. :mx 1=40
et 3 fem quF T H wam fe@ e ?
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ro

3.

5.

wnss 7
From whom did the Europeans learn the use of comj

(A) India (B) Rome

(C) The Arabs (D) China
arenifznmm fea 2o a Fardl o ? =

(A) ¥ \ By e

(C) ¥ (D) #gH T4 el

Vasco da Gama was the resident of which country ?
(A) Spain (B) Portugal

(C) England (D) United States of America

Wﬂmhﬁa#ﬁmﬁaiﬂﬁmgm?
() s (B) WiH

\}e‘/ﬂﬁﬂ"“ (D) =

In which country was the first written constitution implemented in d-lc
world ?

(A) England (B) France

(C) America (D) Spain

aTrhl Taam SuW | i %1 8919t S 91 2

(A) TETEd (B) FwE DiSlike
(C) e oy v

Who was the Commander of America in the American wzr =(
Independence ?

(A) Granville (B) Jefferson |
(C) Lafayette (D) Washington 0
aradia gz f&a 1 2o & ¥re gan @1 2
- FrafEw (B) WIH-THATE!
faea-wm (D) sfEwI-FHaTE
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Which two countries were indulged in the seven year war ?

(A) Britain - America (B) France - Canada
(C) Britain - France (D) America - Canada
6. ‘wa dg' 6 = s o 2
(A) Asw \ By ui ¥
() =¥ (D) HITA
Who wrote '‘Common Sense ' ?
(A) Jefferson (B) Thomas Paine
(C) Washington : (D) Lafayette
7. gudt 6 ugeh gfeem w0 aren ygen arh w15 @ ?
AT R . (B) ¥AFH
(C) TR (D) W S
Who was the first traveller to make the first circumnavigation of the
carth ? o
(A) Magellan (B) Captain Cook -/
(C) Vasco da Gama (D) Marco Polo
8. ™ fava & frm won & e woreft wataw wel Sl R 2
\ Ay it B) A=
©) w3 (D) T T
Which type of government is considered the best in the world today 7~
(A) Democratic ' (B) Military
(C) Communist (D) Monarchy
9.. wra # Avirw! & forg wagm € Faaw g R 2
(A) 21%d B) 20
(€) 1994 \ (D} 18 ad \Y
What is the minimum voting age for citizens in India ?'
(A) 21 years ' (B) 20 years
(C) 19 years (D) 18 years
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10, eI A T AT F@A R ?

A B) A

12.

(C) =manfin (D) FATE HrEm
Who rules in a democracy ?
(A) Public (B) Soldier
(C) Judge (D) Election Commission
11. wdwe awa § gy wiwds fea qm A R 2

(A) fiem \J,Dj/ fezatets
(C) s (D) WiE
In which country is direct democracy prevalent at present ?
(A} Britain (B) Switzerland
(C) America (D) France
A wrwa § wrea 6 apEn feek gy § B R 2 m
(A) wHg % Y i (B) a1 & ®Y |

oy /e ¥ g (D) =i ¥ &Y

In a military regime who is responsible for governance ?
(A) In the hands of parliament

(B) In the hands of the people

(C) In the hands of the army/military

(D) In the hands of the judges

Dislike

13. ¥gw ugEy ) v s gl ?

(C) 1948 (D) 2000
When was the United Nations established ?

(A) 1950 (B) 1945
(C) 1948 (D) 2000

Share
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14, fefefea d A sR-msd w2 2

(A) = Pube (B) & P
(©) ) e Dy i A i
Which of the following is the function of Government ?
(A) Policy making (B) Law making
(C) Public safety (D) All of these
15 @R Fdfa i dm@m s aman @ ?
(A) s & Mﬂ‘rﬁ AT
(C) Mda wng (D) ¥ § s T
What is the name of the border line between India and China ?
(A) Radcliffe line (B) McMahon line
(C) Greenwich line (D) None of these
16. ‘fawn w1 W' fva 76 & s am R ?

A) T (B) TEH 9

\lﬂm D) T

Which river is called the ‘Sorrow of Bihar'?

(A) Ganga (B) Gandak
(C) Koshi (D) Yamuna DiSlike
17. Preifefes § @ 99 5% w1 e M AE R 2 VEILE
(A) e : (B) &
() wEE - \_(Dy TR
Which of the following is not a member country of SAARC ? |
(A) Sri Lanka (B) Bhutan 30
(C) Maldives (D) Japan
18. fewrera i -4 sift fargw % Im-ufead oR w fRm & 2
(A) WA farer : B fratfe
(c) we femre (D) &l famrer il
Q Share
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Which range of Himalaya is situated on the North-West end ©
(A) Greater Himalaya (B) Sivalik
(C) Middle Himalaya (D) Eastern Himalaya

10, W &1 §a8 WA @ #-a k2

f Bihar ?

\JM/ wragia gan B) famme AgA
(C) I & vt (D) @ W
Which is the most primitive land part in India ?

(A) Peninsular plateau (B) Great plains

(C) Mountainous region of the North (D) Coastal pl?ﬂ
20. WT@ % sida v Rl fr i e fea Rt w1 SR 2

(A) 45° (B) 40°
30° (D) 35°
What is the approximate difference in degree between the latitucina)
and longitudinal extent of India ? o)
(A) 45° (B) 40°
(C) 30° (D) 35°
21. femrem % Pmiv #§ S-m fagn wdo= R 2
(A) faeym fagra (B) waea # g
. gg/:az faadfie firgia (D) wH | ¢ TE Dislike
Which theory is most accepted regarding the formation of Himalayas ?
(A) Continental drift theory (B) Convectional current thro=”
(C) Plate tectonic theory (D) None of these
22. frafafas § & form 790 & & @ A R 2
wEs (B) wAle® v
(C) firerg (D) femrer waw
The Tropic of Cancer passes through which of the following states ?
(A) Jharkhand . (B) Karnataka
(C) Tamil Nadu (D) Himachal Pradesh Share
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23, ﬁmféﬁga SESERCIL T Il

N (B) aword
) R (D) W@
Which among the following is nuclear power centre ?
(A) Kaiga (B) Varanasi
(C) Delhi (D) Meerut
24. ety aul 1 waiius wE w8 93 R ?
(A) 9N BT @ wd
(C) 3uht farn (D) v U
Where does the acid rain have the greatest impact ?
(A) Patna (B) Damodar valley
(C) North Bihar (D) Assam Valley
25. 2011 FLITVA F HFER WA 6 Fawe @ =R ?
ﬁme« (B) 85'6% 2
(C) 526% (D) 556% - '
What is the literacy rate of India according to 2011 census ?
(A) 74'04% (B) 85'6%
(C) 526% (D) 556% |
26. Freiferfiaa § @ B A doht T R 2 Dislike
(A) @A . (B) wihagm

ey S D) wiw

Which of the following is not a human capital ?
(A) Health (B) Training 0
(C) Inefficiency (D) Management .
27. TEA % Fe fead wqw W g 8 2 |
(A) - Um/im
(c) dwra (D) ¥m
Share
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How many total main factors of production are there ?

(A) Three (B) Four

(C) Five (D) Seven
28, Frafufia § #)7 Jeaed w1 @A T8 R ?

(A) H7TEA (B) JaW

) fah \)Bl/m‘f‘“

Which of the following is not a factor of production ?

(A) Organisation (B) Enterprise

(C) Capital (D) Consumption
29. frafafas & @ +11 Jes & ?

a1 @) Frart

(c) 3 (D) ¥rvE

Which of the following is producer ?

(A) Carpenter (B) Beggar

(C) Thug (D) Drunker
30. W =% sraE § Wfan w1 T Fa 8, I FE

(A) ®) Yefafa

Fudt (D) HuTe® HEE

The person who bears risk in business, is called

(A) organiser (B) capitalist

(C) entrepreneur | (D) managing board
31. ¥ yug Tpafa #17 & ?

At arfinme (B) ImTen oA

(C) #Waw (D) feeer

Who was the first president of the United States of America ?

(A) George Washington (B) Abraham Lincoln

(C) Roosevelt ' (D) Hitler

Dislike

IIJ

Share
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a2 e wel w Rani e

LA W (1 e
(€ N (1) Wwiu
Where was Columbus from
(A)  Spain ) Portupal
(C) Geneva (1) France
13, wen Rgaga we anm g P
(A) 1940 ¥ ) 1947 o
L (O 1914 o (D) 1920 §o
When did the First World War begin ?
(A) 1940 A.D, (1 1947 AD,
(C) 1914 A.D, (D) 1920 AD,
34, e T R W Al we e g @
(A) 1087 %o o (B) 1789 %o c_?
(©) 1791 do (D) 1793 fe, -
When did the Constitution of the United States of America come into
cffect ?
(A) 1987 A.D. (B) 1789 A.D.
(C) 1791 A.D, (D) 1793 A.D,
3s. ﬂ%m w1 St el gon CEIES
(A) wkh M) el
(C) M \ (D) aufean
Where was Hitler born ?
(A) Germany (B3) ltaly )
(C) Japan (D) Austria
a6, st T A ] AT R e
(A) U _(B) e @ il
(C) W vae (D) I TR

Share
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38.

39.

40.

: dence ?
What was the immediate cause of the American War of Independence
(A) Treaty of Paris (B) Boston Tea Party

(C) Quebec Act (D) Stamp Act
7. Tremdfewm & wun guler w9 gan o ?
(A) 10 fease, 1775 B) 5 fde, 1774
(C) 5 faaw, 1776 (D) 5 faaat, 1775
When was the first convention of Philadelphia held ?
(A) 10th September, 1775 (B) Sth September, 1774
(C) Sth September, 1776 (D) Sth September, 1775
w41 few faga &1 wwdds o1 ?
(A) HWTHETR (B) a1 F =01
(C) =fer gum (D) ﬁ@m
Rousseau was a supporter of which theory ?
(A) Socialism (B) General Will )
(C) Separation of Power (D) Despotism
vivitfers @ieil & afomresy g @ & @98 s e §sm ?
(A) wmEH @ \(BY =t
() &fs ot (D) Fu @i

Which class was benefitted the most as a ‘result of geograp Hical
discoveries ?

(A) Ruling class (B) Business class

(C) Soldier class (D) Farmer class

WA &1 HiaUTT F& S0 83 ? &
(A) 26 TEaE, 1949 (B) 15 37T, 1947
() 9 e, 1948 LB 26 S, 1950

When did the Constitution of India come into force ?

(A) 26th November, 1949 (B) 15th August, 1947

(C) 9th July, 1948 ' (D) 26th January, 1950 G
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v 1 fraa famm Tl @ wen @

(A) Al (B) WUEI &
() =fa ® (D) WY HI

Which cannot develop in democracy ?
(A) Moral virtucs
(C) Character

(8) Corruption
(D) Brotherhood

40 saTEd fawa fea 3w & ugefa 9 2
(A) WTE (B) ¥
\Jm (D) AUTE
Abraham Lincoln was the President of which country ?
(A) India (B) France
(C) America (D) Nepal
43, g 2w A A v o wreeaa wafera € @ ? _
(A) YR@ (B) ure D
(€ = (D) TW
In which country was democracy not prevalent in ancient times ?
(A) India (B) Nepal
(C) China (D) Rome P —
sa B A @ BN Al e saw 9 ea @ 2 sl
(A) (B) W@
(C) FfH M) 3t (c) gl
Which of the following is a country with a democratic governance ?
(A) China (B) India . (1)
(C) America (D) Both (B) and (C)
45. ﬁmﬂgwﬂﬁﬁﬁaﬂ%ﬁmmﬂmt?
() 4 : 5 o .
(€) 6ad (D) 104 by
Share
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- : d?
After how many years does Lok Sabha election hel

(A) 4 years (B) 5 years
(C) 6 years (D) 10 years .
46. "aﬁmmw,m%mmm%m:mwn?ﬁil 7 gftam
feua R 2
(A) 3T (B) wew fau
\/(ci% féraa (D) Sl &t

"Democracy is a system of governance of the people, by the people and

for the people.” Who gave this definition ?

(A) Aristotle (B) Adam Smith
(C) Abraham Lincoln (D) George Washington
47. Tl sfaum awn w1 swwy faffa G o ?
(A FETEEE Yew 3o T JH1G 9
(C) Bio i JidTaR (D) W@R FgTE e
Who was elected as the President of the Constituent Assembly ?
(A) Jawaharlal Nehru (B) Dr. Rajendra Prasad
(C) Dr. Bhimrao Ambedkar (D) Sardar Vallabhbhai Pate:
48, Frefefan § @ ¥4 dewas ) Friwen 78 8 2 Dislike
(A) ad g (B) i sftsrn
e &= e (D) HHA H MEA
Which of the following is not a feature of democracy ?
(A) Free election (B) Civil rights 0
(C) Military rule (D) Rule of law
49. WRE 6 HHH NG TEn }
 (A) 80°30 Yo (B) 81°30' Qo
SIRRZI0 L1 (D) 83°30' Yo Share
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< UH 2: QRIT H AR i YRR T a1
el ST g?

IR
gRu H Hegentet (500 . | 1500 §.) &l 3/ "IHUFhR
g (Dark Ages) &gl SITdT &, &Rilfh 39 99U

1. fve R 7119 o1 &R R
2. fasm= oik g | &l sty gafa 78 g8

3. T 3R ureRal &1 uvra Sgd e o1, o e
g difaq gt 7 ot

4. WIfe 3R W= 9t &) 2ar fay mar o

'

HfeIq SRt 3 38 "3iereR &1 g Fgr, B o




< U2 1: IUFAALAETE T 3TY T GHSd 82

IR

IufAderarg uahs ot Hifa ar ufehar g, forad &l arfeheret
aer fohdt R AT 21 a1 &1 UR YT ST e, a{rlihs
3R iepfaas FAa=ror @ifoq &ar g
uaﬁmwaﬁﬁsﬁm%aﬂuﬂwam%muﬁaw
g a1t 321 ot "3fafAafres afk” oik fog 3y R F=9r
ferar SiTdr 8, 39 "IufAdsr” gl Sirdr 8|
JeTeYuT
ﬁéﬁﬁwmﬂmaﬂaﬂmmﬁémmeﬂ?w
& GarYAT a1 Ly R




< U 6: FAihax a1 82

IR
dAtehaa ok QT mE womrelt @ s 331 Y TR Sreran
&R, 541 & fg 3R S1rar & aremw @ o+ @it 21

g faLaang:

2. R SHdT & Ui Srarasg gidt 21

3. wmﬁmmeﬂiwmﬁm
gl

4. U9 3R fNeafh it w@esrar gidt @

[

SETEROT: MR, AR, Wi Y 220 & dAlehdifen ara=
quTTett 81

Share



< U981 5: Aichas # WdA AragTieiasr =l
3Tk &7?

I
Al A Wad araurferent safoly saaes g aif:

1. <At A & HTIR AT &t g, 7 foh TR
& gd1q H]

2.u€mﬂ5ﬁnﬂmﬂmﬁaﬁﬂmm%aﬂ{
ARl & FfARRY Y & &l 8|

3 IR ARIYTforeh! Was gl gihl, af Si=dT ot = 72,
et arem iR didhds SHHSIR 8 SIg|

4. ug dfayr Y 8 @Rt & ok a8 gRfYa st ¢ i
gt GEIU 31gA-3u YRR &5 H HH 6 z

fAreep:
3fRRT &Y & T Bl



& U 9: ITET & 3T T IHHd 87

3.
IATEH &I HATd § —
ol o a1 |aT Y 39 R ST rad A chl e

3t geoTd Tt & o T

RIAGRTLY N

o frgm @ A N ITATE — T8 IS 6|

o &t U AT & — T8 o I &
fArend: g
Jaure a8 vk & o sremuEl a1 IuanT FRd 9%
7 Y1 AR H STl &



< UH 10: IATEA & WA 1Y hi9-ahi— I
8?

IeR:
3dTE & IR T 9194 gid 8

1. 9@ (Land):
O g Uz @t gidt & a1 IRE T 91T ST gl

2. %11 (Labour):
&hTH & dTel ait, S fohgm, Joigy, o

3. gt (Capital):
o9, IR, #efiH — o Iaarea T Siran g1

4. Iafaar (Entrepreneurship): :
ag cfth SI IdTe <hl TSI a1dT & 3R ¥ B
Grféd &ear gl

)IS1IK




& U 1: STadfY fhd shgd 82

I
STAETY (Strait) Uch Hepdl SIFTYRT i & Sl &t a8
SRl (SF—aHEl a1 HgETRI) &l oy 7 Sisdl 8
3R & Tyt T (yfAt) ol SierT Sl 2

LAY

DISIIKE

UTeh AAETY YR 3R #ficiehr & i 81

af STt ufdrar sik I SAfRenT ol 3rerT &hedl g1



& U 16: T & Heg A <hl IR fawand
ad13U|

IR
T & 7o AgH i wRE IR fAttvan] AT 8

1. GHas fA:
ug &5 9gd gt ande () ok 9er 8, foed @ sit
afeal ST S gidT g

2. IUSTTS: A
ggl & sttt MZY (Alluvial Soil) Igd IUSTTS g 2,
@ A, =rae, T Snfe W ITETHT F I FL .

3. ¥ SHYET:
T &7 YR & & g} Sl aret A A 4 gal g,
Fifh gl oidt, STl 3R AR i areedt Gfaer &

4. STt a1 SITet:
o7 far & 7, T, e o A agdt § S
3R SmamTHA # Aeg ! & Share



< U 22: ARG @Wazar 9 & diF9 uHE
hIRUTI h AT &R

I
AR Taesar §am™ (1775-1783) 39 9uY &t Hed &
forgs smfRaT &t 13 Iufaaert = fafeer e @ s

[ & fau 818 a1 35U & aRur o, S99 9 49 uga

hRUT Y B

1. o3I ohT TV =T (Taxation without

Representation):

fafeer aReR & PR JufAasen &R &8 &R g, St el
@ arffAaa (Sugar Act)

wry Jfafaas (Stamp Act)

g fafAas (Tea Act)
éﬁﬁraﬁaﬁﬁﬁﬁﬁmrmﬁaﬁénﬁﬁﬂaﬂﬁ



a ffeer SRR A I R o amar, Jt MRt AT A
Rty # diea deamg W fafeer sgei @ 9y &t ufear g
o thep &1

gg geq fafeer TR & A« v g1 RAgle a7 1)

3. fafear = &1 SHAERRY &ar:

fafeer arepR A IufAder & STeTTEY @t grae= Y wifAer
ﬂs

afFant &t dardt
IR R Ah

DISlIKe

gl 3R gahgl 81 &t TTeT B 718
S9Y &N H TRET 3R Weadr S HIa=r 3R a9 8l 15|



:,—} UST: SAichd s <hl nguf%a‘tmaﬁ T goi
|

I
dlehad (Democracy) Uah U Qg+ Homedt & fad TR
ST ZRT, ST & [ 3R ST & Areds § -1 St
gl

cAleha <h! T fAgivdd 39 TR 8.

4 1. ST=raT a1 mE (Rule by the Peop!:;:):
TXHR ! I &1 AAHR e a1 ! giar g1 gt
ATl @Y ate 33 &1 AR g 2

"4 2. guEr (Equality):

clehaa | Gt AR A & | aRTER 81 8|
eref, ST, ol am 9T & SneR W Jeg T8 gt

Share



